
SAP ABAP table JVTZAEM2 {Sales Order Header Data}

JVTZAEM2

MANDT [CLNT (3)]

VERSANDDAT [DATS (8)]

ZAEHLER [INT4 (10)]

GPAG [CHAR (10)]

AUART [CHAR (4)]

WAERK [CUKY (5)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKGRP [CHAR (3)]

VKBUR [CHAR (4)]

GSBER [CHAR (4)]

GSKST [CHAR (4)]

FAKSP [CHAR (2)]

KALSM [CHAR (6)]

KURST [CHAR (4)]

BSARK [CHAR (4)]

STAFO [CHAR (6)]

STWAE [CUKY (5)]

KORRGRD [CHAR (3)]

POSNR_LAST [NUMC (6)]

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JVTZAEM2-GPAG = JGTGPNR-GPNR 
0..N

1

JKAP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JVTZAEM2-POSNR_LAST = JKAP-POSNR 
0..N

1

T000

MANDT [CLNT (3)]

 JVTZAEM2-MANDT = T000-MANDT 
0..N

1

T176

MANDT [CLNT (3)]

BSARK [CHAR (4)]

 JVTZAEM2-BSARK = T176-BSARK 
0..N

{0,1}

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 JVTZAEM2-KALSM = T683-KALSM 
0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JVTZAEM2-STWAE = TCURC-WAERS 

0..N

{0,1}

 JVTZAEM2-WAERK = TCURC-WAERS 0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]
 JVTZAEM2-KURST = TCURV-KURST 0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 JVTZAEM2-GSBER = TGSB-GSBER 
0..N

{0,1}  JVTZAEM2-GSKST = TGSB-GSBER 0..N

{0,1} TJAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 JVTZAEM2-AUART = TJAK-AUART 

0..N

1

TJK81

MANDT [CLNT (3)]

KORRGRD [CHAR (3)]

 JVTZAEM2-KORRGRD = TJK81-KORRGRD 

0..N

{0,1}

TMCB

MANDT [CLNT (3)]

STAFO [CHAR (6)]

 JVTZAEM2-STAFO = TMCB-STAFO 

0..N

{0,1}

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 JVTZAEM2-VKGRP = TVBVK-VKGRP 

0..N

{0,1}

TVFS

MANDT [CLNT (3)]

FAKSP [CHAR (2)]

 JVTZAEM2-FAKSP = TVFS-FAKSP 

0..N

{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 JVTZAEM2-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 JVTZAEM2-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 JVTZAEM2-VTWEG = TVKOV-VTWEG 

0..N

1

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 JVTZAEM2-SPART = TVTA-SPART 

0..N

1


